
Chapter 3 Unit Test Questions: (20 marks) 

1. What three (3) issues became the focus of reform in Lower Canada? (3 marks) 

__________________________________________________________________________________________

__________________________________________________________________________________________

__________________________________________________________________________________________ 

2. Name three (3) branches of the Canadian Government. (3 marks) 

__________________________________________________________________________________________

__________________________________________________________________________________________ 

__________________________________________________________________________________________ 

3. What was the cause of the riots in Montreal? Explain what happened. (3 marks) 

__________________________________________________________________________________________

__________________________________________________________________________________________ 

4. Provide two (2) reasons why First Nations leaders were upset with Confederation? (2 marks) 

__________________________________________________________________________________________

__________________________________________________________________________________________ 

5. Provide two (2) reasons why Nova Scotia and New Brunswick were against joining Confederation? (2 

marks) 

__________________________________________________________________________________________

__________________________________________________________________________________________ 

6. List two (2) reasons why Joseph Howe was against Confederation. (2 marks) 

__________________________________________________________________________________________

__________________________________________________________________________________________ 

7. List three (3) ways the United States was a factor in Confederation. (3 marks) 

__________________________________________________________________________________________

__________________________________________________________________________________________

__________________________________________________________________________________________ 

8. John A. MacDonald had to make a number of compromises at the Confederation. List two (2) 

compromises he made. (2 marks) 

__________________________________________________________________________________________ 

__________________________________________________________________________________________ 


